N| WORKPLACE' 8IN MOUNTING

an Accelevation Company ASSEMBLY INSTRUCTIONS

BIN MOUNTING ASSEMBLIES (RAILS, PANEL OR ARM): Do not remove components from cartons prior to assembly. Use
the packing list to locate components. Keep hardware kits in labeled packaging until ready to use.

!
%Q

ASSEMBLY TIPS

e Solid Uprights fasten to rear of leg
sections using KIT-08.

e All bin mounting accessories are
designed to accept various size = |
bins. ' \

e An optional extension arm is
available to add to the Bin
Articulating Arm.

Bin Rail Mounting

Standard Bin Rail Hardware

o°

STANDARD BIN RAIL: Fasten Bin Rail to Solid Uprights using the mounting
hardware in KIT-46A. If mounting to 3 Solid Uprights use KIT-46B.

Bin Rail Mounting
Hardware

Heavy Duty

Bin Rail\ :

HARDWARE INCLUDED

KIT-46A
5/16-18 x 3/4” HHCS (2)

5/16” Flat Washers (4) _ ) _ _ i _
5/16-18 Flange Nuts (2) HEAVY DUTY BIN RAIL: Fasten Bin Rail to Solid Upight using the mounting

hardware in KIT-52. If mounting to 3 Solid Uprights use KIT-52 plus KIT-53.

KIT-46B

5/16-18 x 3/4” HHCS (3)
5/16” Flat Washers (6)
5/16-18 Flange Nuts (3)

Flange Nut
Louvered Panel

KIT-52
5/16-18 x 2” HHCS (2)
5/16 Flat Washers (2)

HHCS &
Washer ™ _ o}

KIT-53 LOUVERED PANEL: Fasten Louvered Panel to Solid Uprights using Mounting
5/16-18 x 2” HHCS (1) hardware in KIT-08C.
5/16 Flat Washers (1)

Connector
KIT-08C N , Pin
5/16-18” Flange Nut (4)
5/16” Flat Washers (4)

5/16-18 X 2” HHCS (4)

Retaining ﬁ,j
Ring _—,ﬂu'“égn

Mounting

Bracket
BIN ARTICULATING ARM: Fasten mounting bracket on Upright using hardware in
KIT-56. Insert arm section into mounting bracket, fasten in place using the
retaining ring. Use connector pin to mount bin attachment to arm section,
fastening with retaining ring.

KIT-56

5/16” Flat Washers (2)
3/8-16 Flange Nuts (2)
3/8-16 x 3/4” HHCS (2)
1/8” Hex Key (1)

WORKPLACE MODULAR SYSTEMS 800-258-9700 LIT #BM-01 (REV. 05/23)



